Converting Between mL, L, and kL (A)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
< o ' — o
cvs &0 o © 8 g B E 5 z
& z T 2 &8 18§ E z 3
: : ——————— : : > X
G M k h da rd ¢ m M n
9 8 7 6 5 4 3 2 1:i0:i-1 2 -3 4 -5 6 -7 -8 -9
. Convert 243.5kL to L
Convert 676,000mL to L
Convert 0.00086 kL to L
Convert 395.6kL to L
Convert 4,990,000 mL to L
Convert 0.0011 kL to mL

Convert 143,300 mL to L

Convert 0.005326 kL. to mL

Convert 41,900 mL to L

Convert 3,742,000,000 mL to kL
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Converting Between mL, L, and kL (A) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
Is+] (@} : : — o— e
5 b 2 5 81 i3 § = 3 £
"Bh S Z =2 =i +o 8 E £ =
: : : : — —t : : —p X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1 E 0:-1 2 3 4 -5 6 -7 -8 -9
. Convert 243.5kL to L

243.5kL X 10 X 10 X 10 = 243,500 L

Convert 676,000mL to L

676,000mL +-10+10+10=676L

Convert 0.00086 kL to L

0.00086 kL x 10 X 10 X 10 = 0.86 LL

Convert 395.6 kL to L

395.6 kL x 10 X 10 X 10 = 395,600 L

Convert 4,990,000 mL to L

4,990,000 mL -10=10-+10=4990L

Convert 0.0011 kL to mL

0.0011kL X 10X 10X 10 X 10 X 10 X 10 = 1100 mL
Convert 143,300 mL to L

143,300 mL +-10+=10+10 =143.3L

Convert 0.005326 kL to mL

0.005326 kL X 10 X 10 X 10 X 10 X 10 X 10 = 5326 mL
Convert 41,900 mL to L

41,900mL +-10+-10+10=419L

Convert 3,742,000,000 mL to kL

3,742,000,000 mL - 10+ 10 +10+ 10 =10 - 10 = 3742KkL
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Converting Between mL, L, and kL (B)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
5, % < § g ig fE :
) g T 2 S: 15 8 E E g
: : ———t—t—t— : : > X
G M k h da 'd ¢ m M n
9 8 7 6 5 4 3 2 1:051-2 3 4 5 -6 -7 -8 -9

Convert 3,110,000 mL to kL.

Convert 28.93 L to mL

Convert 23,000 mL to L

Convert 920.9 L to mL

Convert 0.0428 kL. to mL

Convert 4290 L to kKL

Convert 86,100,000,000 mL to kL

Convert 17,350,000 L to kL

Convert 0.3792 L to mL

Convert 0.0281 kL to L
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Converting Between mL, L, and kL (B) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
Is+] (@} : : — o— e
5 2 e g8 8 13 2 2 S z
"Bh S Z =2 =i +o 8 E £ =
: : - : : —» X
G M k h da: i1d ¢ m M n
9 8 7 6 5 4 3 2 1 E 0.-1 2 -3 4 -5 -6 -7 -8 -9
Convert 3,110,000 mL to kL.

3,110,000mL -10+10+10+10+ 10+ 10 = 3.11 kL
Convert 28.93 L to mL

28.93L X 10X 10x 10 = 28,930 mL

Convert 23,000 mL to L

23,000mL +-10+10+10=23L

Convert 920.9 L to mL

920.9L X 10X 10 X 10 = 920,900 mL

Convert 0.0428 kKL to mL

0.0428 KL X 10 X 10 X 10 X 10 X 10 X 10 = 42,800 mL
Convert 4290 L to kL

4290L - 10+ 10+ 10 = 4.29kL

Convert 86,100,000,000 mL to kL

86,100,000,000 mL - 10 +-10+10+ 10+ 10+ 10 = 86,100 kL
Convert 17,350,000 L to kL

17,350,000L - 10 =10 +- 10 = 17,350 kL

Convert 0.3792 L to mL

0.3792L X 10 X 10 X 10 = 379.2mL

Convert 0.0281 kL to L

0.0281 kL x 10X 10x 10 =28.1L
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Converting Between mL, L, and kL (C)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

!5'_a_s_e
) o ' — o

cvs ) o 5 8 g & E 13 g

2 2 T 2 81 i3 8 % = S

: : ——————— : : > X
G M k h da rd ¢ m M n

9 8 7 6 5 4 3 2 1:0:i-1 2 3 4 -5 6 -7 8 9
Convert 12,000 L to kL

Convert 0.00703 kL to mL

Convert 0.00524 L to mL

Convert 4,100,000 mL to L

Convert 58.5kL to L

Convert 89,390,000 mL to L

Convert 7,767,000,000 mL to kL

Convert 7,088,000 mL to L

Convert 0.00026 kL to L

Convert 0.0704 kL to mL
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Converting Between mL, L, and kL (C) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
Is+] (@} : : — o— e
5 b 2 5 81 i3 § = 3 £
"Bh S Z =2 =i +o 8 E £ =
: : - : : —» X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1 E 0:-1 2 -3 4 -5 -6 -7 -8 -9
Convert 12,000 L to kL

12,000L - 10+ 10+ 10 = 12kL

. Convert 0.00703 kL. to mL

0.00703kL X 10X 10 X 10 X 10 X 10 X 10 = 7030 mL
Convert 0.00524 L to mL.

0.00524 L x 10 x 10 X 10 = 5.24 mL

Convert 4,100,000 mL to L

4,100,000 mL +-10+=10-+10 =4100L

Convert 58.5kL to L

58.5kL x 10 X 10 X 10 = 58,500 L

Convert 89,390,000 mL to L

89,390,000 mL - 10+ 10+ 10 = 89,390 L

Convert 7,767,000,000 mL to kL

7,767,000,000 mL - 10+ 10+10+ 10+ 10+ 10 = 7767 KL
Convert 7,088,000 mL to L

7,088,000 mL =10+ 10+ 10 = 7088 L

Convert 0.00026 kL to L

0.00026 kL x 10 X 10 X 10 = 0.26 L

Convert 0.0704 kL to mL
0.0704KkL X 10X 10 X 10 X 10 X 10 X 10 = 70,400 mL
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Converting Between mL, L, and kL (D)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
] ' — — o

5, 3 s § 8! ig E Z S z

B g T & 9, 19 8 E g g

: : ——————— : : > X

G M k h da rd ¢ m M n

9 8 7 6 5 4 3 2 1:0:i-1 2 3 -4 -5 -6 -7 -8 -9

. Convert 0.754 L to mL
Convert 40,950,000 mL to L

Convert 86,000,000 mL to kL.

Convert 7,400,000 L to kL

Convert 0.0664 kL. to mL

Convert 80,200,000 mL to L

. Convert 0.019kL to L

Convert 43,740,000 mL to L

Convert 89.53 kL to L

Convert 0.0000043 kL. to mL
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Converting Between mL, L, and kL (D) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
Is+] (@} : : — o— e
S %0 2 8 8 13 £ = 5 z
"Bh S Z =2 =i +o 8 E £ =
: : : : — —t : : —p X
G M k h da: i1d ¢ m M n
9 8 7 6 5 4 3 2 1 E 0.-1 2 3 4 -5 6 -7 -8 9
. Convert 0.754 L to mL

0.754 L X 10X 10 X 10 = 754 mL

Convert 40,950,000 mL to L

40,950,000 mL =10+ 10+ 10 = 40,950 L

Convert 86,000,000 mL to kL.

86,000,000mL -10+10+10+10+ 10+ 10 = 86 kL
Convert 7,400,000 L to kL

7,400,000 L =10 - 10 = 10 = 7400 kL

. Convert 0.0664 kL. to mL

0.0664 KL X 10 X 10 X 10 X 10 X 10 X 10 = 66,400 mL
Convert 80,200,000 mL to L

80,200,000 mL =10+ 10+ 10 = 80,200 L

Convert 0.019KkL to L

0.019kL x10Xx10x 10 =19L

Convert 43,740,000 mL to L

43,740,000 mL =10+ 10+ 10 =43,740 L

Convert 89.53 kL to L

89.53kL x 10X 10 X 10 = 89,530 L

Convert 0.0000043 kL. to mL
0.0000043 kL X10x 10X 10x 10X 10x 10 = 4.3 mL
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Converting Between mL, L, and kL (E)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
< o ¥ @]
5 & s 3 81 ig B E 3 2
2 2 T 2 81 18 8 E = S
: : ———t—t—t— : : > X
G M k h da rd ¢ m M n
9 8 7 6 5 4 3 2 1:0:i-1 2 3 4 -5 6 -7 8 9
. Convert 9.313 L to mL
Convert 96,600,000 mL to L
Convert 0.98 L to mL
Convert 380,000,000 mL to kL

Convert 0.593 L to mL

Convert 0.08715kL to L

Convert 9,100,000,000 mL to kL.

Convert 0.00000036 kL. to mL

Convert 8500 L to kL

Convert 413,800 L to kL
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Converting Between mL, L, and kL (E) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

!3_a_s_e
< & ) ‘g 85 E'S g = g s
& : T 2 %1 18 8 E £ g
: : - : : —» X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1:+0:i-1 2 -3 4 -5 -6 -7 -8 -9
. Convert 9.313 L to mL
9.313Lx10X 10X 10 = 9313 mL
Convert 96,600,000 mL to L
96,600,000mL =-10+10+10 = 96,600 L
Convert 0.98 L to mL

0.98L X 10X 10 X% 10 =980 mL

Convert 380,000,000 mL to kL

380,000,000 mL - 10+10+10+10+ 10+ 10 = 380kL
Convert 0.593 L to mL

0.593L X 10x 10X 10 = 593 mL

Convert 0.08715kL to L

0.08715kL X 10 X 10 X 10 = 87.15L

Convert 9,100,000,000 mL to kL

9,100,000,000mL +-10+10+10+10+ 10+ 10 = 9100kL
Convert 0.00000036 kL. to mL

0.00000036 kL X 10 X 10 X 10 X 10 X 10 X 10 = 0.36 mL
Convert 8500 L to kL.

8500L +-10+10+10 = 8.5kL

Convert 413,800 L to kL.

413,800L - 10 +10+10 = 413.8kL

Math-Drills.com




Converting Between mL, L, and kL (F)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

!5'_a_s_e
5 g s § gt ig E 3 2
) g T 2 S: 15 8 E E g
: : ———t—t—t— : : > X
G M k h da 'd ¢ m M n
987654321:051-2345—6789

Convert 95,350,000 mL to kL.

Convert 0.0000507 kL. to mL

Convert 0.0044 L to mL

Convert 9.897 L to mL

Convert 902.7 kL to L

Convert 13,000 mL to L

Convert 853.8kL to L

Convert 5,032,000 mL to L

Convert 81,730,000,000 mL to kL

Convert 210,000 L to kL.
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Converting Between mL, L, and kL (F) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
5 ¢ 2§35 i3 %% =
b E T 2 35 13 8§ E E z
: : - : : —» X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1 E 0:-1 2 -3 4 -5 -6 -7 -8 -9

Convert 95,350,000 mL to kL.
95,350,000mL - 10+-10=10+-10+10+10 = 95.35kL

. Convert 0.0000507 kL to mL

0.0000507 kL X 10X 10 X 10 X 10 X 10 X 10 = 50.7 mL
Convert 0.0044 L to mL

0.0044LX10Xx10x 10 =4.4mL

Convert 9.897 L to mL

9.897L X 10X 10 X 10 = 9897 mL

Convert 902.7KkL to L

902.7KkL x 10 X 10 X 10 = 902,700 L

Convert 13,000 mL to L

13,000mL +-10+-10+-10=13L

Convert 853.8 kL to L

853.8 kL x 10 X 10 X 10 = 853,800 L

Convert 5,032,000 mL to L

5,032,000mL =10 +10+10 = 5032L

Convert 81,730,000,000 mL to kL

81,730,000,000 mL - 10 +-10+10+ 10+ 10+ 10 = 81,730kL
Convert 210,000 L to kL.

210,000L - 10+ 10+ 10 = 210kL
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Converting Between mL, L, and kL (G)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
5 g s § gt ig E 3 2
& g T 2 S: 15 8 E E g
: : ———t—t—t— : : > X
G M k h da: id ¢ m u n
9 8 7 6 5 4 3 2 1:051-2 3 4 5 -6 -7 -8 -9

. Convert 0.00000082 kL. to mL

Convert 790,200 mL to L

Convert 63,320 L to kL

Convert 8870 L to kL

Convert 0.56 L to mL

Convert 22,280,000 mL to kL.

Convert 8500 mL to L

Convert 0.000957 kL to mL

Convert 0.00794kL to L

Convert 5.4 L to mL
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Converting Between mL, L, and kL (G) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
5 ¢ 2§35 i3 %% =
b E T & 39 135 8 E E z
: : - : : —» X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1 E 0:-1 2 -3 4 -5 -6 -7 -8 -9

. Convert 0.00000082 kL. to mL

0.00000082 kL X 10 X 10 X 10 X 10 X 10 X 10 = 0.82mL
Convert 790,200mL to L

790,200 mL + 10+ 10+ 10 =790.2L

Convert 63,320 L to kL

63,320L - 10+ 10 =10 = 63.32kL

Convert 8870 L to kL.

8870L - 10 +10+10 = 8.87kL

Convert 0.56 L to mL

0.56 L X 10X 10X 10 = 560 mL

Convert 22,280,000 mL to kL.

22,280,000mL -10+10+10+10+ 10+ 10 = 22.28 kKL

Convert 8500 mL to L

8500mL +-10+10+-10=8.5L

Convert 0.000957 kL to mL

0.000957kL X 10X 10X 10X 10 X 10 X 10 = 957 mL
Convert 0.00794 kL to L

0.00794KkL X 10 X 10 X 10 = 7.94 L

Convert 5.4 L to mL

54L X 10Xx10x 10 = 5400 mL
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Converting Between mL, L, and kL (H)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
< o 1 1 — — e
5 & o 5 8: i3 E E S z
B S Z =2 =i +o 8 E S S
: : ——————— : : > X
G M k h da 'd ¢ m M n
9 8 7 6 5 4 3 2 1:0,-1 2 3 4 5 6 -7 -8 9
. Convert 0.69 kL to L

Convert 8.1 L to mL

Convert 0.00000089 kL. to mL

Convert 0.000283 kL to mL

Convert 190mL to L

Convert 0.00185kL to L

Convert 6,980,000 mL to kL.

Convert 52,500 L to kL.

Convert 5,500,000 mL to L

Convert 9,700,000 mL to L
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Converting Between mL, L, and kL. (H) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
Is+] (@} : : — o— e
) %0 2 8 8 13 £ = 5 z
"Bh S Z =2 =i +o 8 E £ =
: : : : — —t : : —p X
G M k h da: i1d ¢ m M n
9 8 7 6 5 4 3 2 1 E 0.-1 2 3 4 -5 6 -7 -8 9
. Convert 0.69kL to L

0.69kL x 10X 10X 10 = 690 L

Convert 8.1 L to mL

8.1LX10Xx10x 10 = 8100 mL

Convert 0.00000089 kL to mL

0.00000089 kL X 10 X 10 X 10 X 10 X 10 X 10 = 0.89 mL
Convert 0.000283 kL to mL

0.000283 kL X 10 X 10 X 10 X 10 X 10 X 10 = 283 mL
Convert 190 mL to L

190mL +-10+-10+10=0.19L

Convert 0.00185kL to L

0.00185kL x10x 10 x 10 = 1.85L

Convert 6,980,000 mL to kL.

6,980,000mL - 10+10+10+10+ 10+ 10 = 6.98kL
Convert 52,500 L to kL.

52,500L - 10+ 10 =10 = 52.5kL

Convert 5,500,000 mL to L

5,500,000 mL =10+ 10+ 10 = 5500 L

Convert 9,700,000 mL to L

9,700,000 mL -10+10-+10=9700L
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Converting Between mL, L, and kL (I)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

!5'_a_s_e
5 g s § gt ig E 3 2
) g T 2 S: 15 8 E E g
: : ———t—t—t— : : > X
G M k h da 'd ¢ m M n
987654321:051-2345—6789

. Convert 0.0000026 kL. to mL

Convert 6.8 L to mL

Convert 79,900,000 L to kL

Convert 59.33 L to mL

Convert 405,600 L to kL.

Convert 17,800,000 mL to kL.

Convert 0.3857L to mL

Convert 2.3kL to L

Convert 71,000,000 mL to kL.

Convert 440,000 mL to L
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Converting Between mL, L, and kL (I) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
Is+] (@} : : — o— e
5 b 2 5 81 i3 § = 3 £
"Bh S Z =2 =i +o 8 E £ =
: : - : : —» X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1 E 0:-1 2 -3 4 -5 -6 -7 -8 -9
. Convert 0.0000026 kL to mL

0.0000026 kL X 10 X 10 X 10 X 10 X 10 X 10 = 2.6 mL
Convert 6.8 L to mL

6.8 L X 10 X 10 X 10 = 6800 mL

Convert 79,900,000 L to kL

79,900,000 L =10 = 10 + 10 = 79,900 kL

Convert 59.33 L to mL

59.33L %X 10X%x 10 %X 10 = 59,330 mL

Convert 405,600 L to kL.

405,600 L - 10 =10 + 10 = 405.6 kL

Convert 17,800,000 mL to kL.

17,800,000mL -10+10+10+10+10+10 = 17.8kL
Convert 0.3857 L to mLL

0.3857L X 10X 10 X 10 = 385.7mL

Convert 2.3kL to L

2.3KkL X 10X 10X 10 = 2300L

Convert 71,000,000 mL to kL.

71,000,000mL -10+10+10+10+10+10 = 71kL
Convert 440,000 mL to L

440,000mL -10+10+-10=440L
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Converting Between mL, L, and kL (J)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
< o 1 1 — — e
5 & o 5 8: i3 E E S z
B S Z =2 =i +o 8 E S S
: : ——————— : : > X
G M k h da 'd ¢ m M n
9 8 7 6 5 4 3 2 1:0,-1 2 3 4 5 6 -7 -8 9
. Convert 0.0051 L to mL

Convert 1.1 kL to L

Convert 9,500,000 L to kL

Convert 0.00022 L to mL

Convert 71,000 mL to L

Convert 0.0116 L to mL

Convert 3,200,000 mL to kL

Convert 0.0000026 kL. to mL

Convert 305,000,000 mL to kL

Convert 380,000 L to kL.
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Converting Between mL, L, and kL (J) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: x + 2 3.

Base
Is+] (@} : : — o— e
5 b 2 5 81 i3 § = 3 £
"Bh S Z =2 =i +o 8 E £ =
: : - : : —» X
G M k h da: i1d ¢ m M n
9 8 7 6 5 4 3 2 1 E 0:-1 2 -3 4 -5 -6 -7 -8 -9
. Convert 0.0051 L to mL

0.0051L X 10X 10x 10 =5.1mL

Convert 1.1kL to L

1.1kL X 10X 10X 10 = 1100 L

Convert 9,500,000 L to kL

9,500,000 L - 10 + 10 = 10 = 9500 kL

Convert 0.00022 L to mL

0.00022L x 10X 10x 10 = 0.22mL

Convert 71,000 mL to L

71,000mL +-10+-10+-10=71L

Convert 0.0116 L to mL

0.0116 LX10x10x 10 =11.6 mL

Convert 3,200,000 mL to kL.

3,200,000mL +-10+10+10+10+10+10 = 3.2kL
Convert 0.0000026 kL to mL

0.0000026 kL X 10 X 10 X 10 X 10 X 10 X 10 = 2.6 mL
Convert 305,000,000 mL to kL.

305,000,000mL -10+-10+10+10+10+ 10 = 305kL
Convert 380,000 L to kL

380,000L =10 + 10 = 10 = 380 kL
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